Monday 23rd March 2020
Find  of a number, shape and quantity (EXTENSION: Reasoning)

[bookmark: _Hlk35527315][bookmark: _Hlk35527316]Wednesday 29th April 2020
Divide by 2
	Use either the sharing or grouping method to help work out the answer.
Eg. Divide the 8 slices by 2

	Sharing (Share the 8 slices between 2)
	[image: ]



	Grouping (Group in 2’s)
	[image: ]




	1. Divide the 10 circles by 2
[image: ]




10 ÷ 2 = ____________

	2. Divide the 14 apples by 2
[image: ]




14 ÷ 2 = ____________


	3. Divide the 20p by 2.
[image: ]




20 ÷ 2 = ____________
	4. Divide the 24p by 2. 
[image: ]




24 ÷ 2 = ____________


	5. [image: ]Using the bar model, circle the mistake in the calculation.

	6. [image: ]Using the bar model, circle the mistake in the calculation.

	7. Use the bead string to calculate half of 22.
[image: ]






22 ÷ 2 = ____________

	8. Use the bead string to calculate half of 16. 
[image: ]

16 ÷ 2 = ____________
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9a. Divide the 20p by 2. 9b. Divide the 24p by 2.

ﬁ 00 ¢ 2 = wﬁ 2p = 2 = ;

10a. Complete the bar model and 10b. Using the bar model, circle the
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24 + = 2 =





